BEHE

- [ 340 X 93 BR e f (250)
A g i ll| il FEAR~T BE HAF e
+T i 1 94KH 58.9 | m3
PRI 14K 211.9 | m3
B+ BV3 22.9 | m3
MR L B4 18.1 | m3
MR L B4-C 46.6 | m3
MR L B4-D 25.3 | m3
HLirHEIE 92.7 | m3
7% - 4LER 146.6 | m2 | cooms i 6059 /0.9:6.0-
5.0/0,9) + 1047, 3
RS 2.4 t 3m3X0.8=2. 4t [AHE%cH]
AsEliZE R L 0.0 | m2
ConHg L 11.5 | m3 | 10.3+1.7+10%7.3
e T
1 5-HERE 40.6 | m | FHES I 2nkib
Bﬁi’gr;.%ﬁ%mﬁﬁ a7 Y—Fh | ock=18N/mm2 26.2 | m3
e 96.8 | m2
R e RC-40 =150 37.1 | m2
H #t t=10 2.6 [ m2
25 Pk 46.1 | m | THES IntE 2mAl
a7 J—1h | ock=18N/mm2 35.6 | m3
T 124.8 | m2
S RC-40 =150 49.9 | m2
H #h t=10 3.6 [ m2
KT
1-15 LA K 22.6 m
1-2 5 LR K 23.1 m
L R I 7.3 | m
R T
HIEE D150 4.6 | m




T THREHRE

LRMXERKE (2H)

HLR A

PR HEI94KH

PR Y 14K

% +BV3

W

A5 W i A

T

R4 W i

Eadi

W

P-4

+T

0. 00

0. 60

2.70

1P-1

21.56

1.40

1. 00

21.56

5.20

3.95

85. 16

0. 00

0. 50

0.25

5.39

1p-2

16. 67

1. 20

1. 30

21.67

4. 60

4.90

81.68

1.10

0. 80

13.34

No. 2+4. 50

6. 27

0. 50

0. 85

5.33

3. 10

3.85

24. 14

0. 10

0. 60

3.76

1P-3

7.35

2. 30

1.40

10. 29

2. 60

2. 85

20. 95

0. 00

0. 05

0.37

p-3

No. 3+1. 00

No. 3+1. 00

No. 3+8. 75

1P-5

1P-6

No. 4+6. 85

No. 4+15. 30

No. 4+15. 30

No. 5+6. 20

EP

51.85

58. 85

211.93

22.86




TTHREHRE

LRMXERKE (2H)

WAL | HEEEE H/R LB MR LBA-C ¥R LBA-D
Wit | PsMrmes 2R Wi |EirmEa AR Wi | Furmss A

No. 0 0. 00 0. 60 0. 00 1. 00
IP-1 21.56 0. 80 0.70 | 15.09 2. 30 1.15 | 24.79 0. 90 0.95 | 20.48
1P-2 16. 67 1. 00 0.90 | 15.00 1. 30 1.80 | 30.01 1. 00 0.95 | 15.84
No. 2+4. 50 6. 27 0. 00 0. 50 3.14 1. 40 1.35 8. 46 0. 60 0. 80 5. 02
IP-3 7.35 0. 00 0. 00 0. 00 0. 80 1.10 8. 09 0. 60 0. 60 4. 41
1P-3
No. 3+1. 00
No. 3+1. 00
No. 3+8. 75
IP-5
1P-6
No. 4+6. 85
No. 4+15. 30
No. 4+15. 30
No. 5+6. 20
EP

& 8 51.85 18. 14 46. 56 25.27




T THREHRE

LRAMBXOERGE (1LTKX)

il 4 g AsHiFE B L ConI##E L FEm A E
Wit | Psmrmss 2 Wi | Eirma AR Wi | Furmss A
No. 0 0. 00 0. 00 0.18 1.57
IP-1 21.56 0. 00 0. 00 0. 00 0.21 0. 20 4. 20 2.08 1.83 | 39.35
IP-2 16. 67 0. 00 0. 00 0. 00 0.18 0. 20 3.25 2.13 2.11 | 35.09
No. 2+4. 50 6. 27 0. 00 0. 00 0. 00 0. 26 0. 22 1.38 1.16 1.65 | 10.31
IP-3 7.35 0. 00 0. 00 0. 00 0.13 0. 20 1.43 1. 00 1. 08 7.94
1p-3’
No. 3+1. 00
No. 3+1. 00
No. 348. 75
IP-5
1P-6
No. 4+6. 85
No. 4+15. 30
No. 4+15. 30
No. 5+6. 20
EP
& 8 51.85 0.00 10. 26 92. 69




1 5 HERE ERMKGER K (28)

WA | s s AfE fLe
[ RTTIE 2] i AN 0 Wi | EswimERy] AR Wil | Esomimes A
+T 0. 00 0.30 1. 40 0.70
No. 0+15.30 | 15.79 0.72 0.51 8. 05 2. 60 2.00 | 31.58 0.96 0.83 | 13.11
IP-1 6. 14 0.72 0.72 4.42 2. 60 2.60 | 15.96 0.96 0. 96 5.89
1p-2 18. 65 0.75 0.74 | 13.71 2. 68 2.64 | 49.24 0.98 0.97 | 18.09
No. 2+2. 85

& & 40. 58 26. 18 96. 78 37. 09




25 PERE

LRMXERKE (2H)

wg | wisE swzJ—F e it
Witk | vmimes| A Wit | psmrmsk A Witk | rswimisk] AR

No. 0 0. 00 0. 40 1.74 0. 87
No. 0+15.30 | 14.27 0. 83 0. 62 8.78 2. 86 2.30 | 32.82 1.12 1.00 | 14.20
IP-1 6. 68 0. 85 0. 84 5.61 2. 90 2.88 | 19.24 1.12 1.12 7.48
IP-2 14. 20 0. 89 0.87 | 12.35 3.01 2.96 | 41.96 1.15 1.14 | 16.12
No. 2+4. 50 3.74 0.92 0.91 3.38 3.06 3.04 | 11.35 1.16 1.16 4.32
IP-3 7.21 0.61 0. 77 5. 52 2. 33 2.70 | 19.43 1. 00 1.08 7.79

& E 46.10 35. 64 124. 80 49. 91




1-15LE KR

0.60

0.15 0.45
1 KR
1.03m
N
% 1E KR
B+ 10. 000m
- xmavsu—r | ISR
BE RC-40
0. 60 10.0m%z Y
a9 )—k (0 ck=18N/mm2)
(0.583 x 0.15)+(0.450 X 0.15) X 10.00 = 1.55m3
i (BHEEY)
(0.583+0.433) x 10.00 = 10.16m2
HEA2491)—bk (0 ck=18N/mm?2)
j060 X 0.10 x 10.00 = 0.60m3
B P (BHEEY)
§10.10x 10.00 = 1.00m2

1E7KkR (CF200)

= 11.03m

B #tt (t=10)

1.55/10.0 = 0.30m2

PR (RC-40 t=150)

j0.60 x 10.00 = 6.00m2




1-25 L& KEE

0.60
450/ AL FEESR
0./05 0. 110
1k 7K R -
1.37m
5 |2
E Lf
‘E s m D13-@250
o I, L=10. 000m - N=6. 00&
» Eoy N
s B-o
T 1B KR
o 10. 000m
- s -
S S gavoy—r R
Lﬁ L BE RC-40
D13 @250
L=1. 250m N=40. 004
0,05 0.25 | 0.25 0,05
0.60 10.0m % Y
a9 )—k (0 ck=21N/mm2)
(0.915x0.15)+(0.450 X 0.15) X 10.00 = 2.05m3
e (BmEEy)
(0.915+0.765) x 10.00 = 16.80m2
g&f (D13)
(1.25%x40.00)+(10.00 x 10.00) % 0.995 = 109.45kg
HEA2491)—bk (0 ck=18N/mm?2)
j0.60x0.10 x 10.00 = 0.60m3
HEEO R (BEEY)
§0.10x 10.00 = 1.00m2
1E7KkR (CF200)
= 11.37m
B #tt (t=10)
2.05/10.0 = 0.21m2
A (RC-40 t=150)
§0.60 x 10.00 = 6.00m2

JL—F>B=450 L=1000(#&# FH T-14) 7/RILMEE

10.004%




1ERER
o
2
0. 65
0.15 0.35 0.15 G
SL—FF @R T-14 -
kIR 0.95 0.95 350/ AL FEER \
1.38m !
| |
[ | S |
- — |
He 1 e -
HE@Ea2 o U—+ < i i 1
FH RC-40 f ‘
FRIE 14K 0.5
1# & LB4-D 0.3
0.65 ConExi® L 0.17
10.0m% Y
RIE (14K)
flo.5x 10.00 = 5.0m3
HEREL (B4-D)
0.3 x 10.00 = 3.0m3
ConERiEL
jo.17x10.00 = 1.7m3
a291)—k (0 ck=18N/mm?2)
(0.515% 0.15 % 2.0)+(0.350 X 0.15)- (0.05 X 0.05 X 2.0) X 10.00 = 2.02m3
B (EHEEY)
(0515 %2.0)+(0.365 % 2.0)-(0.05 % 2.0) x 10.00 = 16.60m2
HE#E 91—k (0 ck=18N/mm2)
0.65x0.10 x 10.00 = 0.65m3
HBEOL R (EHEEY)
10.10x10.00%x 2.0 = 2.00m2
1E7KhR (CF200)
= 1.38m
Hih#t (t=10)
2.02/10.0 = 0.20m2




R=2 i

0.65

0.15 0.35 0.15

ods o os TL—F oy A T-14 G
1EIK R H 350/ AL FEER |
1.38m !

— |

I . e

0.15
Figie0. 365

=)
HEHaLs)—+b s \
©
®E RC-40 z ‘
FRYE 14K 0.5
0.65 BWRELBAD| 0.3
ConHyi% L 0.17

10.0m=z Y

A (RC-40 t=150)

j0.65x10.00 = 6.50m2

J'L—F>-B=350 L=1000(4&MT A T-14) RILFEIE

= 10.00%%




\ F/KEKISER

T\E ® # @
> 0.45
0.30 015
0.45
Low o \
) 15 ] s
s P 3 s
T s | 8 2 S
1 R s o
z Egavoy—t s
BE RO-40 z 0.28
,,,,,,,,,,,,,,,, Rk 1.0E/%Y
0.55 ‘ kb ‘ HE ‘ HE ‘
‘ RABES ‘ 2008 03 ‘ 1.00 % ‘
IRERED,
FA7KER K Bt \ /

FRIE (14K)
fo6x1.60 = 1.0m3

HEREL (B4) / \

lo3x 160 / \ =  05m3

a2 4')—k (o ck=18N/mm2) / \

(0.35 X 0.15 X 0.45) x 2.0+(0.3Fx 0.15x 0.30)+(0.4§x0.15X0.60) =  0.10m3
Bih (EEGHEED) / \

(0.35x0.30 X 3.0)+(0.50 045 x 2.0)+(0.50 X 0.60)  \ = 107m2
HBEa Y1) —b (0 ckAI8N/mm2) \
fos5x010x080 / \ = 004m3
EREU BB (EEEY) \

(055 x 0.10x 2.6)+(0.80 X 0.10) \ = o012
A (RC-40/=150) \
los5x080/ = 044m2
KL ) \
Jo.55 x ¢/80 =\ 044m2
FA/KERERSS (200/ CEY) \

/ = \.00%

4 A\




F/KEKISER

FEEEDI50 L=4.60m

FAK R B _B=300

>
7““2‘
e — ‘ / 1.00% Jﬂ 1c)rmasmssso
= u—f%‘ﬁﬁﬁ?
DL=12.000
0.230
0.040| 0.162 |0 040 :i;::::::;:i
IE
e // %i_io =\ %
s ] = I
o B
0.100 Jowezlr 0.100
0.2 E— 10.0m4 Y
BEEE
FRYE (14K)
fo.8 x 10.00 = 8.0m3
BERL (B4)
f0.7 x 10.00 = 70m3
EEED150 L=2000
= 5.004
BEILAILA:3)
§0.02x0.162 % 10.00 = 0.03m3
a2 491)—b (0 ck=18N/mm2)
§0.362x0.10 % 10.00 = 0.36m3
AR (EBHEEY)
§0.10 x 10.00 % 2.0 = 2.00m2
A (RC-40 t=150)
J0.362 x 10.00 = 3.62m2
R#EL(ANH)
J0.362 x 10.00 = 3.62m2




